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Section III: Quarttative Reasoning

81. Al flafferpot plants have blue stems, but not all blue-stermimed plants are flufferpots. Which of the
following must be true?
Q}YD At least two types of plants Ebd{have blae stems.
~<B) Al flufferpots have blue leaves.
() A plant with a blue stem is not a flufferpot.
52 D) Ifa plant develops blue stems and roots, it becomes a flufferpot.

82. A triangle has two Interior angles that measure 45°. What is the measure of the trangle’s
remaining angle?
” o T = (5D
A) 45° L5+ a 2
B} 60° . o
Q) 75° oo (§970

.
('Q“)) 90 Ry
83. ‘Nh‘at is the slope of the line below?
y=-bx+8
A) -8

(B)-

& 5
D) 8

84. ‘Which of the following could be the missing term in the sequence below?

3,6,19,7,48,96 . ..

A) 18 X DA,

}‘3)”_ 21
(Q) 24

D) 26
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Section HI: Quantitative Reasoning

i 85.  'The Changs have three family pets. Two of the pets are the same species, and all of the pets
are female. If one of their pets is 2 female cat, which of the following could be the remaining
two pets in thejr family?

b \A) Afemale cat and a male cat
(B} A female cat and a female dog
) Afemale dog and 2 fermale bird

s D) Afemale dog and a male dog

86. Ifxis an even integer, which of the following must also be an even integer?

Ay x+1
B) 3 - 0
‘o Dy . 5 Voo
g"g_).?’} 2% 2— /< / j’ ;';’?‘ ! 2 “_}é !5/“ li LA
D) dx—1 o

87.  Ifa triangle has an area of 18 square inches and a height of 12 inches, what is the length of that
triangle’s base?

e, ;:' e
T, e P f iy & 4
{ .,} 1.5 inches f g - //; L% é / gi
)} 3 inches < i :/f%
(8 1recT” ™0 6 inches 2 V8 oy —
D) 9inches e i’ —

el b=

88.  Tdangle 7KL is an equilateral triangle. Which of the following could be one of the measures of the
nterior angles of triangle 7EL?

A4 457 “ o (8P
@))). 60°
Gy 75e
A T _‘ B
D) %0° Pl ] A o

89.  Which of the following is similar to a rectangle with a length of 10 units and 2 width of 2 units? -

A) A square with a side length of 6 units _ L e Lq
B) A rectangle with a length of 20 units and a width of 1 unit I / 3

‘**\‘

{

Bt

Q) A rectangle with a length of 8 units and a width of 4 units
D) 3A rectangle with a length of 5 units and a width of 1 unit
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_ Section II: Quantitative Reasoning

90. 'Which of the following lines is perpendicular to y = - ix +57

X B) y=qu=> 5

B) y= a5 g T
i, | . £ .
@4)’)) =dxtS A
/}\" D) y=-4x+5 \

91. A biologist calculates that there are 21 deer per 2 square miles in a forest park. Based on this
calculation, how many deer are in 6 square miles of the park?

A) 7deer PR / ,\ Co L
B} 42 deer “_L.)‘ CD .
{@/)63 deer . Lo ~y,3 e ,3
D) 196 deer Lt
63 = J
92.  If ais a prime number, which of the following must also be prime?
>CA) 9 - 7
i 1 T .
, o e 7
B o / ;f/
S G) al '
i:D/)} None of the above

A chemist finds that the atmosphere of Planet A has moze oxygen than the atmosphere of Planet B
by 24 percentage points. He also discovers that the atmosphere of Planet G is 60% oxygen. Ifthe

atmosphere of Planet C has twice as much oxygen as that of Planet B, what percentage of Planet A’s
atmosphere is composed of oxygen?

) :? ,)-'--— g I
A) 6% [ /A e }(;_3. = r
(]_3) 54% ! . -
T 12% Lo = 6 U f
D) 96% L
|

z
\\\\\ _‘,f"_‘wsi;; £ L ",E} ) 51,_7;’3 é-f :;"’% ("T'
CLT8
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CLT Test - Anwess (201%)

Section T Quantitative Reasoning

94. A student analyzes a number of figures and conclndes that squares and rectangles are always similar.
Which of the following is a counteresample that disproves this claim?

A) A square with an area of 25 square inches and a rectangle with a width of 5 inches end a

height of § inches
B) A square with an area of 25 square inches and a rectangle with an area of 25 square inches

and one leg measuring 5 inches
G} A square with an area of 25 square inches and a rectangle with 2 perimeter of 20 inches

and an area of 25 square inches
A square with an area of 25 square inches and a rectangie with a perimeter of 20 inches

* and one leg measuring 8 inches

ST wa, o[l TF ol € oo e
¥ et foovey Y =272 )I\ﬂf‘“

95. The point below on the (v, ) coordinate plane is reflected across the y-axis. What is the resulting r’jié‘ b z\gf‘

point?' o
.

r

e

Witney,

LB %3
;%:_,_w_“ NS

@
Q) ¢

D)

96. How many numbers between 1 and 21 {nclusive) meet both conditions below?

Condition 1: The number is a multiple of 3.
Clondition 2: The number is even.

CAY LR AN G 8 (TR
té}’v 3 3 == ) ‘!.‘ é;l ;i 1\: i, R i‘; \ (ﬁiﬂ:@ :}! :2'??
B) 4 - : 4o
Q) 6
D) 7
4 o CLTS -



Section TIf: Quantitative Reasoning

g7. A roli of quarters can it forty quarters. If Santiago asks a bank for $50 in reiled quarters, how many

rofls will he receive? W

- -3
- PRI 2
A) 195 =20 ,;;f

B 4
<0)s

D) 12.5

88. Ifx= —i, which of the following st be true?

A) x<-4
- ) i
B) s<:  H B f;j
B - S kA
DLy R
{ DY x> -~ ;
o 2

A chemist is studying 2 population of bacteria in a petri dish, and wants to divide the dish into six
equal segments using three glass dividers, as shown below. If the circamference of the dish measures

4 inches, what wouid be the length of each glass divider? The figure is not drawn to scale.

A) 2inches
@ mches
) 8inches
D) 16 inches

CLT8
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Section II1: Quantitative Reasoning

100. Ifthe interior angles of 2 polygon add up to 540°, which of the following must be true?

= [
sl — 0% (e S }W* st

I. 'The shape has five sides.
II. The shape’s side lengths are equ

IFL. The shape has at least one angle measuring 10.8". ~ ro a3 f‘éﬁ ) )’? b

I only ' “n
B) II oniy _

C} Tand I only
D) I, 1L, end III

Which of the following is equivalent to 24%(5 =~ £) ?

A) 10x — 2 33

B) 1042 —x = logm - £F
10x% — 94

D) 50— 2

What is the lengih of the hypotenuse of the triangle below?

(Hint: The Pythagorean theorem states that, for a right triangle, if 4, 4, and ¢ are the side lengths of

the triangle, and ¢ s the hypotenuse, then A+ =7)

fom

A} Bom

IOcm

G) 12cm
D) 100 cm

CGLT8
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Section II{; Quantitative Reasoning

103. Which of the following is 2 solution to 3x* — 7= 207

— e E . ?___:E’ e . e ? T ?-fﬁ“ B ) o
(Bpa=-y 2 A %q TSy g mas

B} x=0 mg& s - = = 7

Q) x= ;

D) x=5 (b

104. Nora has a handful of coins in her pocket that add up to thirty-four cents. If she has an equal
number of pennies and nickels, then how many dimes and quarters does Nora have in her pocket?
C A b quarters and 1 dime . //3,,;__((5‘ f (s @{j) sl Q’f) p o 2 /(7[ '
B) 0 quarters and 2 dimes ‘ }
Q) 1 quarter and 0 dimes .~ F =

D) 1quarter and T dime < N T
4 PGy Hod +25y >t
Cfiod +7%5=3Y
105. A scientist goes to a lake to study water strider bugs of the family Gerrdae, which can move across >

the surface of bodies of water. The scientist determines the lake is perfectly circular, and that the
circurnference of the lake measures 2n kilometers. If there are approximately 1,000 water strider :ﬂ’g‘ Z ‘
bugs per square kilometer on this particular lake's surface, which of the following gives the closest oan Ltn_%,.‘,/é‘
approximation of how many water strider bugs are on the lakes surface, in total? /

-

& Sog w0
)/ 1,000m water strider bugs NV I g e
B) 2,000m water strider bugs ) v F AR A 7L
) 4,000 water strider bugs Ve | o
) 10,0007 water strider bugs et | A |

2.7 Ll < L_\_d

106. Ifxis an integer less than 0, which of the following could be a value of ixs - ll?

Lo e P
o -," S en o N } A=TTre="7, |
(egal Y2 | 2wy 2 (s | L o

) Q0 — (D[ =] T

f’“‘ﬁ
N O
oo

107. Circle A has a circumference that measures twice the circumference of Circle B. What is the
relationship between the radii of Gircle A and Circle B?

) Circle A’s radius is twice the length of Circle B's radius.

"B) CGircle A’s radius is four times the length of Gircle Bs radius.
() Circle A’s radius is Gircle B’s radius divided by 2.

D) Gircle A’s radius is Circle B’s radius divided by m.

ra T Y [>
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Section 111 Quantitative Reasoning

108. A triangle has two angles that measure 10° and 75°. Which of the following must be true about the
triangle? '

@ None of the triangle’s legs are equal  length.
B) The triangle is an isosceles right triangle.

() The triangle’s longest leg is opposite the 75° angle. - e - oo
D) None of the above can be true.

109. A square in the (¥, y) coordinate plane has one leg that extends from (1, 4) to (1, 5). What is the slope
of the legs of the square that are perpendicular to this leg?

i
A) The slope of the perpendicular legs is undefined. f] )
(ﬁ})The slope of the perpendicular legs is 0. Hoeow
"€)” The slope of the perpendicular legs is 1. ' gi- {!i) <y
D) The slope of the perpendicular legs cannot be determimed. o -
o

110. A sphere has a diameter of 4 inches (in). What is the volume of the sphere?

N 32w, 3 [ e

A5 ‘Z"f' N S e L

B} 16n in®

C) 64n in® Lo ¢ &
o e e G G

my 265 58 \f - e, B = ,{:1 TRV

111. Ifashape has four sides and one interior angle that measures 80°, which of the following must be

true for that shape? rf

A) The shape is 2 rectangie. L

B} The shape has at least two sides that are equal in length. ¢

Gb The shape does not have any acute interior angles. o -
)

"DV} None of the above must be true.

&
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Section I Quanttative Reasoning

112. Which of the following is a point at which the two equations below intersect?

i .
=3x47 ] D@ .
7 N A U v 1%

PERET vi

|

; |

\ et !&‘ — - \"'"? 3‘

Voo T

>_‘i:) . ,(Af‘ ](1)1) {j} - iff‘{}/ *E"i Y ' ‘

B) (1, 4) [ = 3= | |
Gy (1,5) -

X
@ None of the above %\\”—“Mv«.@‘mw /

e S e

113. A cylinder has a surface area of 1505 in® and a height of 10 in. Which of the foliowing is false?

ATt ETes =25 T

‘A) The radius of the cylinder is 5 in.

\/: ‘nf’Wr o B) The diameter of the cylinder is 10 in. e Jie 0 4T
\D'Tr v @The area of the base of the cylinder is 15 in”. Pl ’}
= : D) The volume of the cylinder is 2 0 in® N By I A A

- P FON PN B
A I T Rk B T

I+ The square root of the number is an integer, =7y - T A
2:  The number shares at least one prime factor with 15. - ) ' o i
k‘\\ T e
A 3 7
(B}
Q) 5
D)6

115. Ifbmn = §*+x2, which of the following is equivalent to a” B4?

A) Za vy Fa
B) 44 )
Q) a2+4

@m e
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Section I Quantitative Reasoning

116. H'sis the real square root of the integer #, and #* is odd, then which of the following must be true

about 252 ? -
2 &? PER Y é@ € @G G 2 X 15 ewen
O A) Ttis odd and positive. L
b _ .
B) Itis odd and negative. e T S - i o {‘E}/ "‘D M

It is even and positive.

D) It is even and negative. Zg?‘ia«; p'@-} “hf&f é@fﬁ&ﬁﬁ 2 e,;w;@f QQ‘ @pg

5) 05 e &ﬁ“ fma g
117. Line 4B measures 4 cin. What is the area of Triangle BCD?

A
J;
NEB

ol "\\

G ! D
A) 4cm? D‘ ; ! L
(Bq) 8em? T Seh T b//.
Q) 16 om? 2 bk L /
D) 32 cm?

118. For every $300 earned by a new company, $15 is donated to charity. If the company earned
$106,000 in May and $12,000 in June, how much MORE money did it donate in_June than in May?
¢ A) 460
B) $133
) $200
D) $400
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Section HI: Quantitative Reasoning

, o sy
119. Which of the following is equivalent to (Ty—) ?

W 12 "
A) P A T
B) syt D
D) xlg.ye ('}k;' x":

120, XY= 11 cm, X¥= 8 cm, and V< =5 cm, what is the perimeter of the parallelogram WX¥Z
below?

(Hint: The Pythagorean theorem states that, for a right triangle, if ¢, 5, and ¢ are the side Iengths of
the triangle, and ¢ is the hypotenuse, then o + 5‘2 =)

X i1l em ¥

_ T
A) 38 centimefers = ey . )
T e s, i : i Ao Ty PO YN
¢ B) 42 centimeters D {") R T A s
O TR ssntmeters N L
. o wf 2

D) 22+ 410 centimeters

Do not go on to the next section until instructed to do so by the proctor,

You may use any remaining time to check your work
on this section (Section IIT) only.
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